

## Tabulation of Bids

Page 1 of 8

Contract ID: 24412 Counties: HUNTERDON, MERCER, MIDDLESEX, MONMOUTH, OCEAN,

SOMERSET, WARREN

Letting Date: December 14, 2023 District(s): C4

Call Order: 412 Project(s): STBGP-FLEX-D00S(665)

Line No / Item ID Item Description		(1) TRAFFIC	LINES, INC.	(2) ZONE STF	RIPING, INC.		LINE PAINTING, IC.	
Alt Set	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	N: 0001	ROADWAY		Cat Alt	t Set:	Cat A	It Member:	
0001	151006M	1.000	33,500.00000	33,500.00	70,000.00000	70,000.00	30,000.00000	30,000.00
PERFOR PAYMEN	MANCE BOND AND IT BOND	DOLL						
0003	153011M	1,950.000	0.80000	1,560.00	0.80000	1,560.00	0.80000	1,560.00
TRAINE	ES .	HOUR						
0006	159003M	25.000	0.01000	0.25	0.01000	0.25	0.01000	0.25
BREAKA	WAY BARRICADE	U						
0007	159006M	25.000	0.01000	0.25	0.01000	0.25	0.01000	0.25
DRUM		U						
8000	159009M	1,500.000	15.00000	22,500.00	0.01000	15.00	15.00000	22,500.00
TRAFFIC	CONE	U						



## Tabulation of Bids

Page 2 of 8

Contract ID: 24412 Counties: HUNTERDON, MERCER, MIDDLESEX, MONMOUTH, OCEAN,

SOMERSET, WARREN

Letting Date: December 14, 2023 District(s): C4

Call Order: 412 Project(s): STBGP-FLEX-D00S(665)

Line No / Item ID Item Description		(1) TRAFFIC	LINES, INC.	(2) ZONE STI	RIPING, INC.		LINE PAINTING, IC.	
Alt Se	t / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>DN</b> : 0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0009	159012M	800.000	0.01000	8.00	25.00000	20,000.00	0.01000	8.00
CONSTR	RUCTION SIGNS	SF						
0010	159027M	8.000	0.01000	0.08	500.00000	4,000.00	0.01000	0.08
ARROW	BOARD, 4' X 8'	U						
0011	159030M	6.000	1,000.00000	6,000.00	1,500.00000	9,000.00	1,000.00000	6,000.00
PORTAE SIGN	BLE VARIABLE MESSA	AGE U						
0012	159108M	8.000	20,000.00000	160,000.00	20,000.00000	160,000.00	20,000.00000	160,000.00
	C CONTROL TRUCK V ED CRASH CUSHION	VITH U						
0013	159141M	600.000	0.01000	6.00	1.00000	600.00	0.01000	6.00
TRAFFIC	C DIRECTOR, FLAGGE	ER HOUR						



**Tabulation of Bids** Page 3 of 8

Contract ID: 24412 Counties: HUNTERDON, MERCER, MIDDLESEX, MONMOUTH, OCEAN,

SOMERSET, WARREN

Letting Date: December 14, 2023 District(s): C4

Call Order: 412 Project(s): STBGP-FLEX-D00S(665)

Line No / Item ID Item Description		(1) TRAFFIC	LINES, INC.	(2) ZONE STF	RIPING, INC.		LINE PAINTING, NC.	
Alt Set	/ Alt Member C	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTIO	<b>N</b> : 0001	ROADWAY		Cat Alt	t Set:	Cat A	It Member:	
0014	MMR080M	650,000.000	0.05000	32,500.00	0.05000	32,500.00	0.05000	32,500.00
CLEARIN	IG SITE	LF						
0015	610003M	6,045,000.000	0.40000	2,418,000.00	0.43000	2,599,350.00	0.50000	3,022,500.00
TRAFFIC	STRIPES, 4"	LF						
0016	610006M	1,845,740.000	0.60000	1,107,444.00	0.56000	1,033,614.40	0.85000	1,568,879.00
TRAFFIC	STRIPES, 6"	LF						
0017	610007M	425,740.000	0.80000	340,592.00	0.86000	366,136.40	1.10000	468,314.00
TRAFFIC	STRIPES, 8"	LF						
0018	610060M	120,740.000	7.00000	845,180.00	8.80000	1,062,512.00	16.00000	1,931,840.00
TRAFFIC MARKINGS SYMBOLS SF								
0019	610013M	42,150.000	0.75000	31,612.50	1.32000	55,638.00	1.25000	52,687.50
TRAFFIC	MARKING LINES, 4"	LF						



**Tabulation of Bids** Page 4 of 8

Contract ID: 24412 Counties: HUNTERDON, MERCER, MIDDLESEX, MONMOUTH, OCEAN,

SOMERSET, WARREN

Letting Date: December 14, 2023 District(s): C4

Call Order: 412 Project(s): STBGP-FLEX-D00S(665)

Line No / Item ID Item Description		(1) TRAFFIC	LINES, INC.	(2) ZONE STI	RIPING, INC.		LINE PAINTING, IC.
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	ROADWAY		Cat Al	t Set:	Cat A	It Member:	
0020 610014M	310,388.000	1.50000	465,582.00	2.65000	822,528.20	6.75000	2,095,119.00
TRAFFIC MARKING LINES	, 8" LF						
0021 610017M	286,665.000	4.50000	1,289,992.50	7.95000	2,278,986.75	9.00000	2,579,985.00
TRAFFIC MARKING LINES	, 24" LF						
0022 610012M	300.000	25.00000	7,500.00	60.20000	18,060.00	25.00000	7,500.00
RPM, MONO-DIRECTIONA LENS	L, WHITE U						
0023 610018M	300.000	25.00000	7,500.00	60.20000	18,060.00	25.00000	7,500.00
RPM, MONO-DIRECTIONA AMBER LENS	L, U						
0024 610021M	300.000	25.00000	7,500.00	50.20000	15,060.00	25.00000	7,500.00
RPM, BI-DIRECTIONAL, AN LENS	MBER U						



## Tabulation of Bids

Page 5 of 8

Contract ID: 24412 Counties: HUNTERDON, MERCER, MIDDLESEX, MONMOUTH, OCEAN,

SOMERSET, WARREN

Letting Date: December 14, 2023 District(s): C4

Call Order: 412 Project(s): STBGP-FLEX-D00S(665)

Line No / Item ID Item Description		(1) TRAFFIC	LINES, INC.	(2) ZONE STF	RIPING, INC.		LINE PAINTING, IC.	
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION	<b>N</b> : 0001	ROADWAY		Cat Alt	t Set:	Cat A	It Member:	
0025	610024M	300.000	4.00000	1,200.00	20.00000	6,000.00	4.95000	1,485.00
REMOVA	L OF RPM	U						
0026	610027M	81,500.000	15.00000	1,222,500.00	15.25000	1,242,875.00	15.00000	1,222,500.00
REMOVAL AND REPLACEMENT OF URPM LENS								
0027	610036M	200,000.000	0.20000	40,000.00	0.32000	64,000.00	0.20000	40,000.00
REMOVA	L OF TRAFFIC STRIF	PES LF						
0028	610039M	20,000.000	1.50000	30,000.00	2.85000	57,000.00	1.50000	30,000.00
REMOVA	L OF TRAFFIC MARK	INGS SF						
0029	MMR065M	5,000.000	0.50000	2,500.00	0.90000	4,500.00	1.00000	5,000.00
PATTERN	L OF LONG LIFE NED CONTRAST NT MARKINGS TAPE	LF						



**Tabulation of Bids** Page 6 of 8

Contract ID: 24412 Counties: HUNTERDON, MERCER, MIDDLESEX, MONMOUTH, OCEAN,

SOMERSET, WARREN

Letting Date: December 14, 2023 District(s): C4

Call Order: 412 Project(s): STBGP-FLEX-D00S(665)

Contract Time: 12/31/24 COMPLETION DATE Min: Max:

Contract Description: Long-Life Pavement Marking Contract Central, Cycle 2 (2024)

Line No / Item ID Item Description		(1) TRAFFIC	LINES, INC.	(2) ZONE STF	RIPING, INC.		LINE PAINTING, NC.	
Alt Set	/ Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 ROADWAY			Cat Alt	Set:	Cat A	It Member:		
0030	MMR067M	175,000.000	0.25000	43,750.00	0.90000	157,500.00	0.25000	43,750.00
	AL OF TRAFFIC GS, LINES	LF						
0031	MMR083M	(1)	90,000.00000	90,000.00	98,837.52000	98,837.52	100,000.00000	100,000.00
MOBILE I	RETROREFLECTO E	METER LS						

**Section Totals:** \$8,206,927.58 \$10,198,333.77 \$13,437,134.08



**Tabulation of Bids** Page 7 of 8

Contract ID: 24412 Counties: HUNTERDON, MERCER, MIDDLESEX, MONMOUTH, OCEAN,

SOMERSET, WARREN

Letting Date: December 14, 2023 District(s): C4

Call Order: 412 Project(s): STBGP-FLEX-D00S(665)

Contract Time: 12/31/24 COMPLETION DATE Min: Max:

Contract Description: Long-Life Pavement Marking Contract Central, Cycle 2 (2024)

Line No / Item ID Item Description		(1) TRAFFIC L	INES, INC.	(2) ZONE STF	RIPING, INC.	, , <i>,</i>	LINE PAINTING, NC.
Alt Set / Alt Member	Quantity and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
<b>SECTION:</b> 0002	CONSTRUCTI	ON ENGINEERIN	G Cat Alt	Set:	Cat A	It Member:	
0004 155006M	1.000	5,000.00000	5,000.00	25,000.00000	25,000.00	5,000.00000	5,000.00
FIELD OFFICE TYPE B SI	ET UP U						
0005 155024M	12.000	3,000.00000	36,000.00	2,500.00000	30,000.00	3,000.00000	36,000.00
FIELD OFFICE TYPE B MAINTENANCE	MO						
Section Totals:			\$41,000.00		\$55,000.00		\$41,000.00



Tabulation of Bids Page 8 of 8

Contract ID: 24412 Counties: HUNTERDON, MERCER, MIDDLESEX, MONMOUTH, OCEAN,

SOMERSET, WARREN

Letting Date: December 14, 2023 District(s): C4

Call Order: 412 Project(s): STBGP-FLEX-D00S(665)

Contract Time: 12/31/24 COMPLETION DATE Min: Max:

Contract Description: Long-Life Pavement Marking Contract Central, Cycle 2 (2024)

Line No / Item ID Item Description		(1) TRAFFIC	LINES, INC.	(2) ZONE ST	RIPING, INC.	, , ,	LINE PAINTING, NC.	
Alt Set / Alt Member	Quantity	and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0003 NON-PARTICI			PATING	Cat Alt	Set:	Cat A	It Member:	
0002 152015P		1.000	18,000.00000	18,000.00	11,000.00000	11,000.00	15,000.00000	15,000.00
POLLUTION LIABILITY IN	SURANCE	DOLL						
Section Totals:				\$18,000.00		\$11,000.00		\$15,000.00
Contract Totals				\$8,265,927.58		\$10,264,333.77		\$13,493,134.08
Cost Plus Time Totals				\$8,265,927.58		\$10,264,333.77		13,493,134.08

( ) indicates item is bid as Lump Sum  $\,$ 

Page:



Vendor Ranking

Call Order: 412 Contract ID: 24412 Counties: HUNTERDON,

MERCER, MIDDLESEX, MONMOUTH,

OCEAN, SOMERSET,

WARREN

Letting Date: December 14, 2023 10:00 am District(s): C4

Contract Time: 12/31/24 COMPLETION DATE

Contract Description: Long-Life Pavement Marking Contract Central, Cycle 2 (2024) Project(s): STBGP-FLEX-

D00S(665)

Rank	Vendor Name	Total Bid	Percent Of Low Bid
1	TRAFFIC LINES, INC.	\$8,265,927.58	100.00%
2	ZONE STRIPING, INC.	\$10,264,333.77	124.18%
3	DENVILLE LINE PAINTING, INC.	\$13,493,134.08	163.24%

THE ABOVE IS AN EXACT TRANSCRIPT OF THE ORIGINAL BID PROPOSAL, EXCEPT THAT ERRORS, IF ANY, IN EXTENSION AND ADDITIONS HAVE BEEN CORRECTED.